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mjc_phi Per hrg 16s 2024-12-20T03-08-55
UTC 2024-12-20 03:11:10.34
Mea96—6%13 .258
O’ —
2500 Exposure Time =16.0 s
ModeO
min = mean - 0.5 0 = 274.933
maxXx = mean + 2 0 = 466.562
3000 Focus = 10471.0
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mjc_HD 17505 ha 128s_2024- 12 20T04 34-50
UTC 2024-12-20 04: 44'03 18 ;

Mean = 314.596

o = 32.879

Exposure Time =128.0 s°

Mode0
min = mean - 0.5 0 = 298.157

max s’ mean.+ 2 o ;380.355
Focus = 10313.0 * ;
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mjc HD 17505 hrg 32s 2024-12-20T04-37-00
UTC 2024-12-20 04:47:50.43
Mea94=1%%7.484
@ = AL,

2500 Exposure Time =32.0 s
ModeO
min = mean - 0.5 o0 = 300.394

maXx = mean + 2 o = 335.843
3000 Focus = 10963.0 ;

0 1000 2000 3000 4000



500

1000

1500

2000

2500

3000

mjc HD 17505 hrg 128s 2024-12-20T04-39-00
UTC 2024-12-20 04:50:10.36

Mean = 321.829

o =53.188

Exposure Time =128.0 s

ModeO
min = mean - 0.5 0 = 295.235
428.204

max = mean + 2 0
Focus = 10963.0
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mjc HD 21620 hrg 64s 2024-12-20T04-47-15
UTC 2024-12-20 04:54:11.19
Mea24—0%12 .918
O’ —
2500 Exposure Time =64.0 s
ModeO
min = mean - 0.5 o = 290.879

maxXx = mean + 2 o = 401.073
3000 Focus = 10963.0 ;
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mjc HD 21620 hrg 32s 2024-12-20T04-48-20
UTC 2024-12-20 04:57:00.47
Mea32_03§07 .903
O’ —
2500 Exposure Time =32.0 s
ModeO
min = mean - 0.5 0 = 296.892

maXx = mean + 2 o = 351.948
3000 Focus = 10963.0 J
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mjc HD 21620 hrg 32s 2024-12-20T04-48-55
UTC 2024-12-20 04:59:17.26

Mean = 307.965

o= 22242

Exposure Time =32.0 s

ModeO

min = mean - 0.5 0 = 296.843

maXx = mean + 2 o = 352.449
Focus = 10963.0 !
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m+ HD 21620 ha 64s 2024-12- 20T04 50-40
C 2024-12-20 05:00:22.18
Mean = 305.498

"0 =65.321

Exposure Time =64.0 s
ModeO

min = mean - 0.5 g = 272. 838
max = mean + 2 d = 436.141
Focus = 10313.0
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m+ HD 21620 ha 32s 2024-12- 20T04 51-45
C 2024-12-20 05:0I:51.90
Mean = 304.204

"0 = 34.465

Exposure Time =32.0 s
ModeO

min = mean - 0.5 g = 286. 971
max = mean + 2 d = 373.135
Focus = 10313.0
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mjc HD 21620 Irg 32s 2024-12-20T04-53-20
UTC 2024-12-20 05:04:01.96
Mea86—2_215 .872
O’ —
2500 Exposure Time =32.0 s
ModeO
min = mean - 0.5 o = 267.749
maxXx = mean + 2 o = 508.364
3000 Focus = 10313.0
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n%+c HD 21620 i 16s 2024-12-20T04- 55 05
C 2024-12- 2'0" 05:05:09.38
Mean = 310.913

o0 =153.774

Exposure Time =16.0 s
ModeO

min = ‘mean - 0.5 0 = 234. 025
max = mean + 2 d = 618.461
Focus = 10313.0
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n%+c HD 21620 i 8s 2024-12-20T04- 55 50
C 2024-12- 2'0" 05:05:54.86
Mean = 306.912

‘0 = 68.005

Exposure Time =8.0's
ModeO

min = mean - 0.

max = mean +

Focus = 10313.
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m+ HD 21620 r 16s 2024-12-20T04- 56 40.
C 2024-12-20 05:06:34.87
Mean = 318.850

0= 322.427

Exposure Time =16.0 s
ModeO

min = ‘mean - 0.5 0 =157. 637
max = mean + 2 d = 963.704
Focus = 10313.0
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n%{_c HD 21620 g 32s 2024-12-20T04-57-40
UTC 2024-12-20705:07:19.45
Mean = 342.765

0= 539.393

Exposure Time =32.0 s

ModeO *
min = mean - 0.5 o0 = 73.069
max = mean + 2 0 = 1421.552
Focus = 10313.0
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mjc HD 21620 g 16s 2024-12-20T04-58-15
UTC 2024-12-20 05:08:17.30

Mean = 324.513

o = 446.159

Exposure Time =16.0 s

ModeO ;

min = mean - 0.5 0 = 101.434

maxXx = mean + 20 = 1216.832

Focus = 10313.0
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m+c HD 21620 g 16s 2024-12-20T04-59-00
UTC 2024-12-20705:09:06.81

Mean = 324.501

o = 434.653

Exposure Time =16.0 s

ModeO )

min = mean - 0.5 0 = 107.174

maxXx = mean + 2 d = 1193.807

Focus = 10313.0
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m+c HD 21620 r 4s 2024-12-20T04-59-50
UTC 2024-12-20 05:09:50.47

Mean = 307.214

o= 135.641

Exposure Time =4.0 s

ModeO

min = mean - 0.5 o
max = mean + 2 d
Focus = 10313.0

239.394
578.496
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M+c HD 21620 r 16s 2024-12-20T05-00-20
UTC 2024-12-20 05:10:26.99
Mean = 319.621

‘0= 323.163

Exposure Time =16.0 s
ModeO ;
min = mean - 0.5 0 = 158.04
maXx = mean + 2 d = 965.947
Focus = 10313.0
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mjc HD 21620 Irg 16s 2024-12-20T05-03-05
UTC 2024-12-20 05:14:17.03

Mean = 308.995

o = 44,597

Exposure Time =16.0 s

ModeO

min = mean - 0.5 0 = 286.697

maxXx = mean + 2 o = 398.189

Focus = 10313.0
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n%{_c HD 21620 ha 32s 2024-12-20T05-05-25
C 2024-12-20 05:18:48.13
Mean = 304.398

‘0= 18.641

Exposure Time =32.0 s
ModeO

min = mean - 0.5 g = 295. 077
max = mean + 2d = 341 68
Focus = 9500.0
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mjc PLEIONE hrg 16s 2024-12-20T05-11-35
UTC 2024-12-20 05:22:25.71
Meag9=036%7.103
o = 89.
2500 Exposure Time =16.0 s
ModeO
min = mean - 0.5 o = 272.599
maxXx = mean + 2 0 = 495.12
3000 Focus = 10150.0
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mjc PLEIONE ha 16s 2024-12-20T05-13-10
UTC 2024-12-20 05:23:16.15 :
Meag ;5_303.666

o = 6.
2500 Exposure Time =16.0 s

ModeO I

min = mean - 0.5 o = 300.541

max = mean + 2 0 = 316.167
3000 Focus = 9500.0 E
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mjc PLEIONE Irg 8s 2024-12-20T05-14-00
UTC 2024-12-20 05:26:11.60

Mean = 320.699

o=161.618

Exposure Time =8.0 s

ModeO

min = mean - 0.5 o

max = mean + 2 o

Focus = 9500.0
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mjc_PLEIONE i 16s 2024-12-20T05-17-30

UTC 2024-12-20 05:27:25.57
Meags—g_’éll .630
g =
2500 Exposure Time —16 0s .
ModeO
min = mean - 0.5 0 = 293.64 -
-max = mean + 2 0 = 383.593
3000 Focus = QSOOO
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mjc PLEIONE Irg 16s 2024-12-20T05-18-05
UTC 2024-12-20 05:32:04.29
Meago=8 Ejr?é%.514
o= .
2500 Exposure Time =16.0 s
ModeO
min = mean - 0.5 o = 182.299
maxXx = mean + 2 o = 953.373
3000 Focus = 9500.0
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mjc HD 29866 hrg 64s 2024-12-20T05-59-05
UTC 2024-12-20 06:00:58.41
Mea22—43116 218
o’ =
2500 Exposure Time =64.0 s
ModeO
min = mean - 0.5 o = 290.011
maxXx = mean + 2 0 = 421.044
3000 Focus = 10946.0

0 1000 2000 3000 4000



500

1000

2000

mjc HD 29866 hrg 64s 2024-12-20T06-00-10
UTC 2024-12-20 06:03:48.68
Mea22=5%}16.308
@ = 52,
2500 Exposure Time =64.0 s
ModeO
min = mean - 0.5 o0 = 290.021
maxXx = mean + 2 0 = 421.456
3000 Focus = 10946.0
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mjc HD 29866 hrg 32s 2024-12-20T06-01-15
UTC 2024-12-20 06:06:38.49
Mea36=9321%9.536
o = 26.
2500 Exposure Time =32.0 s
ModeO
min = mean - 0.5 o0 = 296.063
maXx = mean + 2 0 = 363.427
3000 Focus = 10946.0
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"mjc_ HD 29866 ha 64s 2024-12-20T06-01-55
UTC 2024-12-20 06:07:41.69
Mea?3=2%95.921

o=13.
2500 Exposure Time =64.0 s
* ModeO Fi
min = mean .- 0.5 o = 299.283
max = mean + 2 0 = 332.476
3000 Focus = 10296.0 i
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"mjc_HD 29866 ha 64s 2024-12-20T06-03-00°
UTC 2024-12-20 06:09:11.65
Mear114=o?é%5.9_34

o= 14.
2500 Exposure Time =64.0 s
* ModeO piti i
min = mean - 0.5 o = 298.901
max = mean + 2 0 = 334.066
3000 Focus = 10296.0 ;
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"mjc_HD 29866 ha 32s 2024-12-20T06-04-05
UTC 2024-12-20 06:10:41.63
Mea9 E?()_?_)04.4_11

o=17.
2500 Exposure Time =32.0 s

* ModeO el

min = mean - 0.5 o = 300.509

max = mean + 2 0 = 320.021
3000 Focus = 10296.0 ;
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"mjc_ HD 29866 ha 16s 2024-12-20T06-04-40
UTC 2024-12-20 06:11:39.58
Meaz §8%03'6'54

o=4.
2500 Exposure Time =16.0 s

* ModeO sl

min = mean - 0.5 o = 301.364

max = mean + 2 0 = 312.814
3000 Focus = 10296.0 ;
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"mjc_HD 29866 ha 16s 2024-12-20T06-05-00

UTC 2024-12-20 06:12:21.51
Mean = 303.663

o= 5.063 '

Exposure Time =16.0

* ModeO

min = mean - 0.5
max = mean + 2
Focus = 10296.0
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mjc HD 29866 ha 8s 2024-12-20T06-05-15
UTC 2024-12-20 06:13:02.94
Mea2 36%03.291
o =4,
2500 Exposure Time =8.0 s
* ModeO
min = mean - 0.5 o
max =mean + 2 0
3000 Focus = 10296.0
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‘mjc_HD 29866 _ha 8s_2024-12-20T06-05-20

UTC 2024-12-20 06:13:36.40
Mean = 303.268

o=3.398

Exposure Time =8.0 s

* ModeO

min = mean - 0.5 ¢
max = mean + 2 0
Focus_ = 10296.0
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mjc_HD 29866 ha 8s 2024-12-20T06-05-25
UTC 2024-12-20 06:14:09.85

Mean = 303.285

o=4.281 ;

Exposure Time =8.0 s

* ModeO

min = mean - 0.5 0 = 301.145
maxXx = mean + 2 o = 311.847
Focus_ = 10296.0 :
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mjc HD 29866 Irg 32s 2024-12-20T06-05-40
UTC 2024-12-20 06:15:52.22

Mean = 319.839

o= 109.042

Exposure Time =32.0 s

ModeO

min = mean - 0.5 0 = 265.318

maXx = mean + 2 o = 537.923

Focus = 10296.0
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*mjc HD 29866 i 32s 2024-12-20T06-07-15
UTC 2024-12-20 06:16:54.21
Meag7—132119 398
e
2500 Exposure Time =32.0 s
* ModeO
. min = mean --0.5 a— '300. 825
max = mean + 2 o = 393. 688 .
3000 FOCUS = 10296 0

-
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*mjc HD 29866 i 16s 2024-12-20T06-07-50
UTC 2024-12-20 06:17:51.89
Mear117=43él61-.0_23
g =19,
2500 Exposure Time =16.0 s
* ModeO
. min = mean - 050— '302. 31
max = mean + 2 o = 345. 875 !
3000 FOCUS = 10296 0 -
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*mjc HD 29866 r 16s 2024-12-20T06-09-05
UTC 2024-12-20 06:18:43.26
Meagg—lf’éZl .829
o
2500 Exposure Time =16.0 s
* ModeO
. min = mean --0.5 a— '302. 267
max = mean + 2 o = 400. 076 :
3000 FOCUS = 10296 0

-
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UTC 2024-12-20 06:19:26.08
Mea88=83é%9.688
o = 98.
2500 Exposure Time =32.0 s
* ModeO
. min = mean - 0.5 o— '320.244
max = mean + 2 0 = 567. 465
3000 FOCUS = 10296 0
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UTC 2024-12-20 06:20:25.49
Mea25=03§366.1_99
(0 = 55,
2500 Exposure Time =16.0 s
* ModeO
. min = mean - 0.5 a— '308.679
max = mean + 2 0 = 446. 278
3000 FOCUS = 10296 0
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"mjc_HD 29866 g 4s 2024-12-20T06-11-05
UTC 2024-12- 2' 706:21:09.22
Mear113—63611 227
o=
2500 Exposure Time =4.0 s
* ModeO At
. min = mean-0.5 o0 = 304.381
max = mean + 2 0 = 338.61
3000 Focus = 10296.0 X
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"mjc_ HD 29866 g 32s 2024-12-20T06-11-40
UTC 2024-12-20 06:21:44.74
Mear110=7 %7291.1_81
o= :
2500 Exposure Time =32.0 s
* ModeO e
- min = mean-0.5 0 =316.419
max = mean + 2 0 = 585.23
3000 Focus = 10296.0 :
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*mjc_HD 29866 r 16s 2024-12-20T06-12-45
UTC 2024-12-20 06:22:51.12
Mea23=23é%1-.9_73
o =43.

2500 Exposure Time =16.0 s

* ModeO
. min = mean -.0.5 ¢ =300. 331
max—mean+20—408537 "o
3000 FOCUS = 10296 0

-
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2000

UTC 2024-12-20 06:23:33.78
Meag3=7§§1-.4_54
o = 83.
2500 Exposure Time =32.0 s
* ModeO
. min = mean -0.5 g =299. 586
max—mean+20—508929 i
3000 FOCUS = 10296 0
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3000

4000



500
1000

1500

2000 | S :
*mjc HD 29866 i 325 2024-12- 20TO6 14- 35
UTC 2024-12- 2'0' 0624:34.53"
Meags—l?é}gg b53
o = 38.
2500 Exposure Time =32.0 s
* ModeO E
. min = mean 0.5 o ="300. 485
max—mean+20—395829 Y
3000 FOCUS = 10296 0
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mjc HD 29866 Irg 16s 2024-12-20T06-15-40
UTC 2024-12-20 06:26:48.37

Mean = 310.530

o =49.144

Exposure Time =16.0 s

ModeO

min = mean - 0.5 0 = 285.958

maxXx = mean + 2 o = 408.817

Focus = 10296.0
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"mjc_HD 29866 ha 32s 2024-12-20T06-17-45
UTC 2024-12-20 06:27:35.11
Mea9 §833’304'452

o=17.
2500 Exposure Time =32.0 s

* ModeO gl

min = mean .- 0.5 o = 300.66

max = mean + 2 0 = 319.619
3000 Focus = 10296.0 :

0 1000 2000 3000 4000



500

1000

2000

mjc HD 29866 hrg 8s 2024-12-20T06-19-20
UTC 2024-12-20 06:29:48.63
Meag ;23604.598
(O =T/
2500 Exposure Time =8.0 s
ModeO
min = mean - 0.5 o = 300.936
max = mean + 2 o = 319.25
3000 Focus = 10946.0
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mjc HD 29866 hrg 32s 2024-12-20T06-20-50
UTC 2024-12-20 06:38:54.14
Mea37=83§%9.745
@ = 27,
2500 Exposure Time =32.0 s
ModeO
min = mean - 0.5 o = 295.83
max = mean + 2 0 = 365.404
3000 Focus = 10150.0
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w
mjc HD 37115 hrg 64s 2024-12-20T06-30-35
UTC 2024-12-20 06:42:14.98
Mean = 320.783
o = 45,589
Exposure Time =64.0 s
ModeO
min = mean - 0.5 o0 = 297.989
maxXx = mean + 2 o = 411.96
Focus = 10150.0
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mjc V1369 Ori hrg 64s 2024-12-20T06-35-40
UTC 2024-12-20 06:45:52.67
Meag4=13é%)4.659
o = 34,
2500 Exposure Time =64.0 s
ModeO :
min = mean - 0.5 o = 297.599
maxXx = mean + 2 o = 382.898
3000 Focus = 10150.0 ;
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mjc V1369 Ori hrg 32s 2024-12-20T06-37-50
UTC 2024-12-20 06:49:21.28
Mea97=13é%8.755
@ = 7,
2500 Exposure Time =32.0 s
ModeO
min = mean - 0.5 o = 300.191
maxXx = mean + 2 0 = 343.01
3000 Focus = 10150.0 ;
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mjc V1369 Ori ha 32s 2024-12-20T06-40-40
UTC 2024-12-20 06:50:27.61
Meag 62%04 609
o’ —
2500 § Exposure Time =32.0-s'
ModeO
min = mean - 0.5 o = 300.598
max = mean + 20 = 320 653
3000 Focus = 9500.0
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- Exposure Time =16.0
o
o

mjc V1369 Ori ha 16s 2024-12-20T06-41-35
UTC 2024-12-20 06:51:27.75

Mean = 303.742

O =485

ModeO

min = mean - 0.5
max = mean + 2
Focus = 9500.0

301.326

S
= 313.405
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mjc V1369 Ori Irg 32s 2024-12-20T06-42-15
UTC 2024-12-20 06:53:54.64
Mea25=83é%)6'909
o = 65.

2500 Exposure Time =32.0 s
ModeO
min = mean - 0.5 o0 = 283.965
maXx = mean + 2 0 = 448.687

3000 Focus = 9500.0
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mjc V1369 Ori r 16s 2024-12-20T06-45-40
UTC 2024-12-20 06:55:37.73
Mea28=53§%4.100
o = 48. ;
2500 & Exposure Time =16.0-s"
ModeO
min = mean - 0.5 o0 = 299.831
maxXx = mean + 2 o = 421.175
3000 Focuus = 9500.0
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mjc V1369 Ori g 32s 2024 12-20T06-46- 40
UTC 2024-12-2006:56:22.01
S Lo
o= ] .
2500 ¢ Exposure Time =32.0-s"
ModeO
min = mean - 0.5 0 = 310.466
maxXx = mean + 2 o = 670.074
3000 Focus = 9500.0
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mjc V1369 Ori 16s 2024 12-20T06-47- 15
UTC 2024-12-20 06:57:19.88
Mea91—33§42 .340
O’ —
2500 ¢ Exposure Time =16.0-s"
ModeO
min = mean - 0.5 o = 306.674
maXx = mean + 2 o = 485.003
3000 Focus = 9500.0
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mijc V1369 Ori r 16s 2024-12-20T06-49-20
UTC 2024-12-20 06:59:17.18
Mea29=8%%4.260
o = 49, -
2500 & Exposure Time =16.0-s"
ModeO
min = mean - 0.5 o = 299.359
maXx = mean + 2 0 = 423.864
3000 Focuus = 9500.0
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mjc_V1369 Ori r_32s_2024-12-20T06-50-05 '

UTC 2024-12-20 06:59:59.76
Mea89—932146 130
O’ —
2500 & Exposure Time =32.0-s"
ModeO
min = mean - 0.5 o0 = 296.156
maxXx = mean + 2 0 = 546.024
3000 Focuus = 9500.0
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mjc V1369 Ori Irg 4s 2024-12-20T06-51-45
UTC 2024-12-20 07:05:15.60
Meag ;8%04.677
@r= (&
2500 Exposure Time =4.0 s
ModeO
min = mean - 0.5 o
max =mean + 2 0
3000 Focus = 9500.0
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mjc V1369 Ori hrg 8s 2024-12-20T06-55-55
UTC 2024-12-20 07:10:40.25
Meag 65%04'427
o1 =5
2500 Exposure Time =8.0 s
ModeO
min = mean - 0.5 o
maxXx = mean + 2 o
3000 Focus = 10847.0
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mjc*HD 37115 g 16s 2024*12- 20T07 01-45
UTC 2024-12-20 07:11:33.33

Mean = 362.016

o= 91.689 ’

Exposure Time =16.0 s :

ModeO

min = mean - 0.
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mjc*HD 37115 g 8s 2024.%12- 20T07 02-10
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’ Meago—o?élZ .439-
o’ —
2500 Exposure Time —128 Os
ModeO
min = méan - 0.5 o0 = 297. 392
*max'= mean + 2 0 = 372.63
3000 Focus = 10283.0 g
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mjc HD 44637 hrg 16s 2024-12-20T08-56-05
UTC 2024-12-20 09:05:47.38

Mean = 306.255

o=6.212

Exposure Time =16.0 s

ModeO

min = mean - 0.5 0 = 303.148

maxXx = mean + 2 o = 318.679

Focus = 10933.0 '
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mjc HD 44637 hrg 16s 2024-12-20T08-56-35
UTC 2024-12-20 09:07:49.69

Mean = 306.264

o= 6.378

Exposure Time =16.0 s

ModeO

min = mean - 0.5 o0 = 303.074

maxXx = mean + 2 o = 319.021

Focus = 10933.0 '
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mjc HD 44637 hrg 64s 2024-12-20T08-59-20
UTC 2024-12-20 09:09:55.33

Mean = 316.819

o= 20.780

Exposure Time =64.0 s

ModeO

min = mean - 0.5 0 = 306.429

maxXx = mean + 2 o = 358.378

Focus = 10933.0 '
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mjc HD 44637 hrg 128s 2024-12-20T09-01-20
UTC 2024-12-20 09:12:45.58
Mea28—4%31 .029
O’ —J
2500 Exposure Time =128.0 s
ModeO
min = mean - 0.5 c = 311.793
maxXx = mean + 2 o = 407.974
3000 Focus = 10933.0 !

0 1000 2000

3000

4000



500

1000

1500

2000

2500

3000

mjc HD 44637 hrg 128s 2024-12-20T09-05-30
UTC 2024-12-20 09:16:40.49

Mean = 331.336

o = 38.781

Exposure Time =128.0 s

ModeO

min = mean - 0.5 o0 = 311.945

max = mean + 2 o = 408.897

Focus = 10933.0 '
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mjc V715 Mon 32s 2024- 12 20T09-09-45
-UTC 2024-12-20709: I9 30.64
s 4950
O’ —)
2500 Exposure T|rﬁe =32.0s
ModeO
min = mean - 0.5 0 = 280 703
max = mean + 2 0 = 969.131,
3000 Focus = 10283.0
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mjc V715 Mon.r 4s 2024~ 12 20T09-10-50
UTC 2024-12-20" 09'20 30.2
MeaBZ—SEé%)l 102
s i
2500 Expdsure T|rﬁe =4. O 'S
ModeO T
min = mean - 0.5 0 =299.808.
max = mean + 2 0 = 35628 .,
3000 Focus = 10283.0-
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mjc V715 Mon.r 8s 2024-12-20T09-11-00
UTC 2024-12-20" 09'21 04.30
Mea29—53%9 510
O’ —

2500 Exposure T|rﬁe =8. O 'S
ModeO S
min = mean - 0.5 0 = 294.735.
max = mean + 2 0 = 418.606.

3000 Focus = 10283.0*
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m C'V715 Mon.r 16s_2024- 1-2 20T09-11-35

UTC 2024-12-2009: 21 40.18
Mean = 336.268

o = 84.665 y
Expdsure T|rﬁe =16. 0 S
ModeO

min = mean - 0.5 0 = 293
max = mean + 2 0 = 9
Focus = 10283.0+

1000 2000

3000

4000



500
1000
1500

2000

mjc V715 Mon.r 32s 2024-12-20T09-12-20
UTC 2024-12-20709:25:53.13 ]
Mea97=4 %71%.347 :

0 = : £ K
2500 Expdsure Time =32.0

ModeO i S

min = mean - 0.5 0 = 284.891.

max = mean + 2 0 = 722.174.
3000 Focus = 10258.0+
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mjc V715 Mon Irg 32s 2024-12-20T09-17-30
UTC 2024-12-20 09:28:27.04
Mea82—13525 .469
s
2500 Exposure Time =32.0 s
ModeO
min = mean - 0.5 o = 279.391
max = mean + 2 o = 509.781
3000 Focus = 10258.0
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mjc V715 Mon ha 32s 2024-12-20T09-19-35
LUTC 2024-12-20 '09:29:33.42
Meag (?933’305'573 J

(0=, i .
2N Exposure Tinhe =32.0

ModeO !

min = mean - 0.5 0 =
max = mean + 2 0 =
3000 Focus = 19258.0‘
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mjc V715 Mon ha 32s 2024 12-20T09-20-35
.UTC 2024-12-20 '09: 303
Meag IS%OS .565
O’ o
Bl Exposure Tire =32.0's
ModeO
min = mean - 0.5 0 = 3009
max = mean + 2 0 = 323. 93
3000 Focus = 10258.0 :
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mjc V715 Mon_ha 64s 2024- 12 20T09-22-05
.UTC 2024-12-20 "09: 3I 30.85
Mea96—931%8 266
o’ —]
2500 Exposure Tmﬁe =64.0s
ModeO
min = mean - 0.5 0 = 299 806
max = mean + 2 0 = 342.103.
3000 Focus = 10258.0 :
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+c V715 Mon ha 64s 2024- 12 20T09-23-05
(oF 2024’ 12 20 "09: 33 00.55
ieen 308279
O’ —)
2500 Exposure Tln‘\e =64. 0 S
ModeO
min = mean - 0.5 0 = 300 155
max = mean + 2 0 = 340.772.
3000 Focus = 10258.0 ;
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mjc V715 Mon hrg 16s 2024-12-20T09-24-40
UTC 2024-12-20 09:35:49.85
Mear112=33é(217.531
e = 12,
2500 Exposure Time =16.0
ModeO
min = mean - 0.5 o
max = mean + 2 0
3000 Focus = 10908.0

)
301.369
332.18
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mjc V715 Mon hrg 64s 2024-12-20T09-26-40
UTC 2024-12-20 09:37:55.92
Mea26=831%1.847
o = 46.
2500 Exposure Time =64.0 s
ModeO
min = mean - 0.5 o = 298.437
maXx = mean + 2 o0 = 415.485
3000 Focus = 10908.0
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mjc 19 Mon g_ls 2024-12- 20709-30-00

UTC 2024-12-20 09:39:59.53*
Mean = 306.503 '
o=5.277

Exposure T|me =1.0 s
ModeO

min‘'=.mean - 0.5 0 =
maxXx = mean + 20 =
Focus = 10258.0-

'303.865
317.057
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mjc 19 Mon Irg 1s 2024-12-20T09-31-00
UTC 2024-12-20 09:42:15.80

Mean = 304.077

o=8.719

Exposure Time =1.0 s
ModeO

min = mean - 0.5 o
max =mean + 2 0
Focus = 10258.0
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'min = mean - 0.5 o

mjc_V695 Mon g 4s 2024-12-20T09-34-00

UTC 2024-12-20 09:43:53.86
Mean = 319.683 i

o = 30.948 - "
Exposure Time =4.0 s
ModeO : .
304.209

381.579

max = mean + 2 0
Focus = 10258.0
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UTC 2024-12-2009: ZF4 29 10
Mear111—3 %?@39 633
O’ —
2500 Exposure Time =16. 0 S
ModeO
'min = mean - 0.5 o = 312.74
max = mean + 2 o = 597.205
3000 Focus = 10258.0
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UTC 2024-12-2009: ZFS 12. 80
e
O’ —
2500 Exposure Time =32. 0 S
ModeO
'min = mean - 0.5 o = 326.35
maXx = mean + 2 o = 879.256
3000 Focus = 10258.0
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mjc V695 Mon r 4s 2024-12- 20T09 36 35
UTC 2024-12-20 6)9'46 41.74
Mear117—131172 511
(0f = f
2500 Exposure Time =4.0 s
ModeO ; .
'min = mean - 0.5 o = 303.952
max = mean + 2 0 = 346.745
3000 Focus = 10258.0
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mijc V695 Mon r 16s 2024-12- 20TO9 37 20
UTC 2024-12-20 09: 217 18 (0]3)
Meagl—6%41 674
o’ —
2500 Exposure Time =16. 0 S
ModeO .
'min = mean - 0.5 0 = 310.836
maxXx = mean + 2 0 = 465.029
3000 Focus = 10258.0
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mijc V695 Mon r 32s 2024-12- 20TO9 38 05
UTC 2024-12-20 09: 218 00 62
et
o’ —
2500 Exposure Time =32. 0 S
ModeO .
'min = mean - 0.5 0 = 319.187
max = mean + 2 0 = 627.999
3000 Focus = 10258.0
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mjc V695 Mon i 4s 2024-12- 20TO9 39 10
UTC 2024-12- 2'0_ 09: 49 00 (0)5)
Meag 5533’307 132
Lo i
2500 Exposure Time =4.0 s
ModeO
'min = mean - 0.5 o0
max =mean + 2 o
ER Focus = 10258.0
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mjc V695 Mon i 16s 2024-12- 20T09 39 40
UTC 2024-12-20 09719 36 52
Mea39—13119 969
i S
2500 Exposure Time =16.0 s
ModeO
'min = mean - 0.5 o = 305. 411
maxXx = mean + 2 o = 378.2
3000 Focus = 10258.0
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mjc V695 Mon i 32s 2024-12- 20T09 40 40
UTC 2024-12-20 09'50 20 29
Meag3—0%37 .523
o’ o
2500 Exposure Time =32. 0 s
ModeO .
'min = mean - 0.5 0 = 310.987
maXx = mean + 2 0 = 443.667
3000 Focus = 10258.0
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mjc V695 Mon Irg 4s 2024 12-20T09-41-45
UTC 2024-12- 2'0 09:52:27.00
Mear111—33605 72
O’ )
2500 Exposure Time =4.0 s
ModeO
min = mean - 0.5 o
max =mean + 2 0
3000 Focus = 10258.0
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mijc V695 Mon Irg 32s 2024-12-20T09-43-15
UTC 2024-12-20 09:54:16.35

Mean = 326.012

o = 85.998

Exposure Time =32.0 s

ModeO

min = mean - 0.5 0 = 283.013

max = mean + 2 o = 498.008

Focus = 10258.0
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mjc V695 Mon ha 32s 2024 12 20T09 45-20
UTC 2024-12-20 09: 55 2.89
Meag ﬂ_)305 823
o’ e
2500 Exposure Time =
ModeO
'min = mean - 0.5 o0
max =mean + 2 0
3000 Focus = 10258.0
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mjc V695 Mon ha 32s 2024-12-20T09-46-20
UTC 2024-12-20 09: 59 50.36
Meag 2-3305 831 .
O’ —)
2500 Exposure Time =32. 0 S
ModeO Eriticis
'min = mean - 0.5 0 = 301.215
max = mean + 2 0 = 324.295
3000 Focus = 10257.0
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mjc V695 Mon hrg 32s 2024-12-20T09-50-55
UTC 2024-12-20 10:02:11.88
Mea30=3?§£2.604
o = 20.
2500 Exposure Time =32.0 s
ModeO
min = mean - 0.5 o = 302.417
maxXx = mean + 2 o = 353.352
3000 Focus = 10908.0
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mjc V695 Mon hrg 64s 2024-12-20T09-53-25
UTC 2024-12-20 10:04:31.11
Mea20=7%%2.574
o = 40.
2500 Exposure Time =64.0 s
ModeO
min = mean - 0.5 o = 302.211
maxXx = mean + 2 0 = 404.024
3000 Focus = 10908.0
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.min = mean‘- 0.5 o

mjc 5 Cne g 2s 2024-12-20T09-56-10
UTC 2024-12-20 10:06:07.12
Mean = 310.784
o =5.781
Exposure Time =2.0 s
ModeO - . :
= 307.893
maxXx = mean + 2 0 = 322.346
Focus.= 10258.0
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mjc 5 Cne g 16s 2024-12-20T09-56-40
UTC 2024-12-20 "10:06:45.12
Meago=33é(35.035

o =-30.
2500 Exposure Time =16.0 s

ModeO. - # :

..min = mean’- 0.5 o = 349.87

maxXx = mean + 2 0 = 425.693
3000 Focus = 102580
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mjc 5 Cnc r 16s 2024-12-20T09-57-45
UTC 2024-12-2010:07:39.97
Mea56=7%?7>8.920 ;
o =26.
2500 Exposure Time =16.0 s
ModeO —~ ®# s
..min = mean*- 0.5 o = 325.551
max = mean + 2 0 = 392.394
3000 Focus = 102580
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mjc_ 5 Cnc i 2s 2024-12-20T09-58-20
UTC 2024-12-20 10:08:23.57

Mean = 304.911

o = 3.562

Exposure Time =2.0 s

ModeO - #

~Mmin = mean’- 0.5 o

max =mean + 2 o
Focus = 10258.0
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mjc 5 Cnc i 16s 2024-12- 20T09-59'-05
UTC 2024-12-20 10:09:03.0
Mea93—6%18 .926
o’ =
2500 Exposure Time =16.0
ModeO - #
-Min = mean
max = mean +
3000 Focus = 10258.
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mjc 5 Cnc Irg 16s 2024-12-20T09-59-55
UTC 2024-12-20 10:11:03.65
Meag4—4%14 808
O’ =
2500 Exposure Time =16.0 s
ModeO
min = mean - 0.5 o = 287.582
maxXx = mean + 2 o = 423.714
3000 Focus = 10258.0
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mjc 5 Cnc ha 32s 2024-12-20T10-02-00
UTC 2024-12-20 T10:11:58.75
Mea9 T3%05.660 :
=Tk
2500 Exposure Time =32.0 s
ModeO0 = =
.min = mean’- 0.5 o = 302.092
max = mean + 2 0 = 319.934
3000 Focus = 10258.0 .
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mjc 5 Cnc _hrg 4s 2024-12-20T10-03-05
UTC 2024-12-20 T10:14:11.81
Mea2 7=O%O4.189
Gi=24
2500 Exposure Time =4.0 s
ModeO
min = mean - 0.5 o
max = mean + 2 0
3000 Focus = 10908.0
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mjc 5 Cnc_hrg 32s 2024-12-20T10-05-05
UTC 2024-12-20 10:16:10.95
Mea58=4%193.166
o= 28.
2500 Exposure Time =32.0 s
ModeO
min = mean - 0.5 o0 = 298.951
maxXx = mean + 2 o = 370.024
3000 Focus = 10908.0
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" mjc_HD 70340 g 32s 2024-12-20T10-07-20

UTC 2024-12-20710:17:23.89
Mean = 442.960

o = 235.739

Exposure Time =32.0.s
ModeO

min = mean - 0.5 0 = 325.09
max = mean + 2 0 = 914.439
Focus = 10258.0
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" mjc_HD 70340 g 32s 2024-12-20T10-08-20

UTC 2024-12-20710:18:22.39
Mean = 443.087

o =237.867

Exposure Time =32.0.s
ModeO

min = mean - 0.5 0 = 324.153
max = mean + 2 0 = 918.822
Focus = 10258.0
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mjc HD 70340 r 16s 2024-12-20T10-09-25
UTC 2024-12-20 10:19:28.91
Mea93—63643 .384
g =
2500 Exposure Time =16.0.s
ModeO
min = mean - 0.5 0 = 306.58
max = mean + 2 0 = 490.598
3000 Focus = 10258.0°
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" mjc_HD 70340 r 32s 2024-12-20T10-10-25

UTC 2024-12-20 10:20:12.75
Mean = 384.290

o = 147.595

Exposure Time =32.0.s
ModeQ

min = mean - 0.5 0 = 310.493
max = mean + 2 0 = 679.479
Focus = 10258.0°
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mjc HD 70340 i 4s 2024- 12 20T10-11-30
UTC 2024-12- 2'0' 10:21:12.27
Meag §13§07 405
o= 8.
2500 Exposure Time =4.0 s
ModeO
min = mean - 0.5 o = 303.149
max = mean + 2 0 = 324.429
3000 Focus = 10258.0
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" mjc_ HD 70340 i 8s 2024-12-20T10-11-40

UTC 2024-12-20 10:21:46.48
Mean = 311.733

o =16.803

Exposure Time =8.0 s

ModeO

min = mean - 0.5 o
max = mean + 2 0
Focus = 10258.0°°

303.332
345.339
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" mjc_ HD 70340 i 16s 2024-12-20T10-12-15

UTC 2024-12-20 10:22:22.33
Mean = 320.599

o = 30.064

Exposure Time =16.0.s
ModeO

min = mean - 0.5 o = 305.567
max = mean + 2 o = 380.727
Focus = 10258.0°°
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mjc HD 70340 i 32s 2024-12-20T10-13-00
UTC 2024-12-20 10:23:04.87
Mea25—93é38 992
g =
2500 Exposure Time =32.0.s
ModeO
min = mean - 0.5 o = 310.993
max = mean + 2 0 = 450.987
3000 Focus = 10258.0°°
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mjc HD 70340 Irg 4s 2024-12-20T10-14-05
UTC 2024-12-20 T10:25:11.65
MeaTO_O%OS T77
s
2500 Exposure Time =4.0 s
ModeO
min = mean - 0.5 o = 300.751
maXx = mean + 2 o = 325.883
3000 Focus = 10258.0
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mjc HD 70340 Irg 32s 2024-12-20T10-16-05
UTC 2024-12-20 10:27:01.09

Mean = 326.233

o= 73.494

Exposure Time =32.0 s

ModeO

min = mean - 0.5 0 = 289.486

max = mean + 2 o = 473.221

Focus = 10258.0
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" mjc_HD 70340 ha 32s 2024-12-20T10-18-10

UTC 2024-12-20 10:28:07.43
Mean = 306.013

o= 8.723

Exposure Time =32.0

ModeO

min = mean - 0.5 o

max = mean + 2 0

Focus = 10258.0 °
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" mjc_HD 70340 ha 64s 2024-12-20T10-19-10

UTC 2024-12-20 10:29:06.18
Mean = 309.189

o =16.876

Exposure Time =64.0.s
ModeO

min = mean - 0.5 o0 = 300.752
max = mean + 2 0 = 342.941
Focus = 10258.0"° :
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" mjc_HD 70340 ha 64s 2024-12-20T10-21-10

UTC 2024-12-20 10:34:07.14
Mean = 309.219 .
o =16.539

Exposure Time =64.0. s
ModeO

min = mean - 0.5 0 = 300.949
max = mean + 2 0 = 342.298
Focus = 102360 '
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mjc HD 70340 hrg 64s 2024-12-20T10-25-45
UTC 2024-12-20 10:37:02.19

Mean = 323.177

o = 39.805

Exposure Time =64.0 s

ModeO

min = mean - 0.5 0 = 303.275

maxXx = mean + 2 o = 402.786

Focus = 10886.0
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mjc HD 79066 ha 64s 2024-12-20T10-28-30
UTC 2024-12- 2'0 10:38:38.43
Mea92—332125 22
0 —
2500 Exposure Time =64.0 s .
ModeO
min = mean - 0.5 0 = 319.048
maxXx = mean + 2 o = 349.912
3000 Focus = 10236.0 !
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mjc HD 79066 ha 32s 2024-12-20T10-30-40
UTC 2024-12-20 T10:40:09.95

Mean = 313.883

o=7.461

Exposure Time =32.0

ModeO

min = mean - 0.5 o

max =mean+ 2 o0

Focus = 10236.0

1000 2000

3000

4000



500

1000

1500

2000

2500

3000

mjc HD 79066 ha 16s 2024-12-20T10-31-15
UTC 2024-12-20 T10:4I1:07.99

Mean = 308.319

o= 4.818

Exposure Time =16.0 s .

ModeO

min = mean - 0.5 o0 = 305.91

max = mean + 2 o = 317.956

Focus = 10236.0 ;
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mjc HD 79066 ha 8s 2024-12-20T10-31-50
UTC 2024-12-20 T10:41:51.20

Mean = 305.595

o = 3.658

Exposure Time =8.0 s

ModeO :

min = mean - 0.5 0

max =mean + 2 o

Focus = 10236.0
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mjc HD 79066 Irg 16s 2024-12-20T10-32-50
UTC 2024-12-20 T10:44:09.81
Meag2=7%%9.078
o= 62.
2500 Exposure Time =16.0 s
ModeO
min = mean - 0.5 o0 = 297.692
maxXx = mean + 2 0 = 454.622
3000 Focus = 10236.0
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mjc HD 79066 i 4s 2024-12-20T10-34-55°
UTC 2024-12-20 10:45:00.43

Mean = 320.495

o= 6.208

Exposure Time =4.0 s

ModeO

min = mean - 0.5 o
max =mean + 2 0
Focus = 10236.0

317.391
332.91
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mjc HD 79066 r 16s 2024-12-20T10-35-40
UTC 2024-12-20 10:45:35.10

Mean = 431.881

o= 20.823 .

Exposure Time =16.0s .

ModeO

min = mean - 0.5 0 = 421.47

maxXx = mean + 2 o = 473.528

Focus = 10236.0
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mjc HD 79066 g 32s 2024-12-20T10-36-40
UTC 2024-12-20710:46:19.57
Mea25=0%%1.644

o = 45,
2500 Exposure Time =32.0s .

ModeO

min = mean - 0.5 o = 589.11

maxXx = mean + 2 o= 701.78 '
3000 Focus = 10236.0
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mjc HD 79066 g 16s 2024-12-20T10-37-15
UTC 2024-12-2010:47:17.44
Mea33=7g%5.231

=125
2500 Exposure Time =16.0 s .

ModeO

min = mean - 0.5 o0 = 443.337

max = mean + 2 o = 502.807
3000 FEocus = 10236.0
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mjc HD 79066 g 16s 2024-12-20T10-38-00
UTC 2024-12-20710:48:06.93
Mea33=5£é525.112

o="23,
2500 Exposure Time =16.0 s .

ModeO

min = mean - 0.5 o0 = 443.336

maxXx = mean + 2 o = 502.215
3000 Focus = 10236.0
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mjc HD 79066 r 4s 2024-12-20T10-38-50"
UTC 2024-12-20 10:48:50.48

Mean = 335.390

o=17.707 _

Exposure Time =4.0s .

ModeO

min = mean - 0.5 o
max = mean + 2 o
Focus = 10236.0

331.536
350.804
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mjc HD 79066 r 16s 2024-12-20T10-39-20
UTC 2024-12-20 10:49:27.26
Mea32—5%32 157
=
2500 Exposure Time =16.0s .
ModeO
min = mean - 0.5 o0 = 420.877
max = mean + 2 0= 477.278
3000 Focus = 10236.0
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mjc HD 79066 r 32s 2024-12-20T10-40-05
UTC 2024-12-20 10:50:09.99

Mean = 563.622

o = 39.757 )

Exposure Time =32.0s .

ModeO

min = mean - 0.5 0 = 543.743

maxXx = mean + 2 0 = 643.136

Focus = 10236.0
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mjc HD 79066 i 32s 2024-12-20T710-41-10
UTC 2024-12-20 10:51:10.47
Mea33=3é§452.129

gi="23,
2500 Exposure Time =32.0s .

ModeO

min = mean - 0.5 o0 = 430.466

max = mean + 2 o = 488.779
3000 AR 10236.0
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mjc HD 79066 Irg 16s 2024-12-20T10-42-15
UTC 2024-12-20 T10:53:23.71
Meago=1%%8.471
o = 60.
2500 Exposure Time =16.0 s
ModeO
min = mean - 0.5 o0 = 298.386
maxXx = mean + 2 0 = 448.811
3000 Focus = 10236.0
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mjc HD 79066 ha 32s 2024-12-20T10-44-20
UTC 2024-12-20 T10:54:10.73

Mean = 313.853
o= 7.449
Exposure Time =32
ModeO

min = mean - 0.5 o
max = mean + 2 0
Focus = 10236.0

.0

S
310.128
328.752
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2000
mjc_HD_79066_hrg_8s 2024-12-20T10-45-55
UTC 2024-12-20 10:56:57.26
Mean = 308.496
LU 7 = 8858

Exposure Time =8.0 s
ModeO

min = mean - 0.5 o
max = mean + 2 o
3000 Focus = 10886.0
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mjc HD 79066 hrg 32s 2024-12-20T10-47-55
UTC 2024-12-20 10:58:57.89

Mean = 325.883

o= 33.434

Exposure Time =32.0 s

ModeO

min = mean - 0.5 o0 = 309.166

max = mean + 2 o = 392.751

Focus = 10886.0
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mjc HD 79066 hrg 64s 2024-12-20T10-50-25
UTC 2024-12-20 11:01:49.79

Mean = 349.236

o = 66.099

Exposure Time =64.0 s

ModeO

min = mean - 0.5 0 = 316.187

maxXx = mean + 2 0 = 481.434

Focus = 10886.0
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mjc phi Leo hrg 16s 2024-12-20T12-40-00
UTC 2024-12-20 12:41:59.95
Meag6=13§£6.997
o = 56.

2500 Exposure Time =16.0 s
ModeO
min = mean - 0.5 o = 288.91
maXx = mean + 2 0 = 429.346

3000 Focus = 10670.0
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mjc _phi Leo hrg 8s 2024-12-20T12-40-15
UTC 2024-12-20 12:44:33.78
Mea39=8_°i%0.163
o= 29.

2500 Exposure Time =8.0 s
ModeO

295.255
369.797

min = mean - 0.5 o
max =mean + 2 o
3000 Focus = 10670.0
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2000

mjc phi Leo hrg 8s 2024-12-20T12-40-20
UTC 2024-12-20 12:46:59.06
Mea39=5%190.153
o = 29.

2500 Exposure Time =8.0 s
ModeO

295.399
369.17

min = mean -0.5 0
max = mean + 2 o
3000 Focus = 10670.0
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mjc _phi Leo hrg 8s 2024-12-20T12-40-25
UTC 2024-12-20 12:49:22.38
MeaBS—S%lo 148
g =
2500 Exposure Time =8.0 s
ModeO

295.897
367.154

min = mean -0.5 o0
max = mean + 2 o
3000 Focus = 10670.0
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mjc phi Leo hrg 2s 2024-12-20T12-40-30
UTC 2024-12-20 12:51:46.05
Meag 2=332,O4.789
o = 8.
2500 Exposure Time =2.0 s
ModeO
min = mean - 0.5 o
max =mean + 2 0
3000 Focus = 10670.0
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2000

mjc phi Leo hrg 16s 2024-12-20T12-43-40
UTC 2024-12-20 12:55:22.95
Mea28—53§17 372
oa
2500 Exposure Time =16.0 s
ModeO
min = mean - 0.5 o0 = 288.105
maXx = mean + 2 0 = 434.441
3000 Focus = 10670.0

0 1000 2000 3000 4000



500

1000

2000

mjc PHECDA hrg 0-5s 2024-12-20T13-18-45
UTC 2024-12-20713:26:15.14
Mear110—932104 336
g =
2500 Exposure Time =0.5 s
ModeO
min = mean-0.50

max = mean + 2 0
3000 Focus = 10848.0
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mjc PHECDA hrg 1s 2024-12-20T13-18-45
UTC 2024-12-2013:28:32.25
Mea30=43é%6.072
@ = 20,
2500 Exposure Time =1.0 s
ModeO
min = mean - 0.5 o
max = mean + 2 0
3000 Focus = 10848.0

295.859
346.924
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